

Aufgaben mit Klammern „ () “

Setze eine Klammer so , dass die Gleichung stimmt.

$$8 + 5 \cdot 6 + 3 = 81$$

$$8 + 5 \cdot 6 + 3 = 53$$

$$8 - 5 \cdot 6 - 3 = 15$$

$$8 + 5 \cdot 6 - 3 = 23$$



www.mathemonsterchen.de

Aufgaben mit Klammern „ () “

Setze eine Klammer so , dass die Gleichung stimmt.

$$8 - 4 \cdot 5 - 2 = 18$$

$$8 + 4 \cdot 5 - 2 = 20$$

$$8 + 4 \cdot 5 + 2 = 36$$

$$8 + 4 \cdot 5 + 2 = 62$$



www.mathemonsterchen.de

Aufgaben mit Klammern „ () “

Setze eine Klammer so , dass die Gleichung stimmt.

$$7 + 3 \cdot 5 - 2 = 47$$

$$7 - 3 \cdot 5 + 2 = 22$$

$$7 + 3 \cdot 5 + 2 = 28$$

$$7 + 3 \cdot 5 + 2 = 52$$



www.mathemonsterchen.de

Aufgaben mit Klammern „ () “

Setze eine Klammer so , dass die Gleichung stimmt.

$$6 + 2 \cdot 4 + 1 = 16$$

$$6 + 2 \cdot 4 - 1 = 31$$

$$6 - 2 \cdot 4 + 1 = 17$$

$$6 + 2 \cdot 4 - 1 = 12$$



www.mathemonsterchen.de

$$(8 - 4) \cdot 5 - 2 = 18$$

$$8 + 4 \cdot (5 - 2) = 20$$

$$8 + 4 \cdot (5 + 2) = 36$$

$$(8 + 4) \cdot 5 + 2 = 62$$

$$(8 + 5) \cdot 6 + 3 = 81$$

$$8 + 5 \cdot (6 + 3) = 53$$

$$(8 - 5) \cdot 6 - 3 = 15$$

$$8 + 5 \cdot (6 - 3) = 23$$

$$6 + 2 \cdot (4 + 1) = 16$$

$$(6 + 2) \cdot 4 - 1 = 31$$

$$(6 - 2) \cdot 4 + 1 = 17$$

$$6 + 2 \cdot (4 - 1) = 12$$

$$(7 + 3) \cdot 5 - 2 = 48$$

$$(7 - 3) \cdot 5 + 2 = 22$$

$$7 + 3 \cdot (5 + 2) = 28$$

$$(7 + 3) \cdot 5 + 2 = 52$$

Aufgaben mit Klammern „ () “

Setze eine Klammer so , dass die Gleichung stimmt.

$$9 + 6 \cdot 3 + 2 = 47$$

$$9 - 6 \cdot 3 - 2 = 3$$

$$9 + 6 \cdot 3 - 2 = 43$$

$$9 - 6 \cdot 3 + 2 = 11$$



www.mathemonsterchen.de

Aufgaben mit Klammern „ () “

Setze eine Klammer so , dass die Gleichung stimmt.

$$7 - 5 \cdot 4 - 2 = 6$$

$$7 + 5 \cdot 4 + 2 = 37$$

$$7 + 5 \cdot 4 + 2 = 50$$

$$7 + 5 \cdot 4 - 2 = 17$$



www.mathemonsterchen.de

Aufgaben mit Klammern „ () “

Setze eine Klammer so , dass die Gleichung stimmt.

$$6 - 4 \cdot 3 - 1 = 5$$

$$6 + 4 \cdot 3 + 1 = 22$$

$$6 - 4 \cdot 3 + 1 = 7$$

$$6 + 4 \cdot 3 - 1 = 14$$



www.mathemonsterchen.de

Aufgaben mit Klammern „ () “

Setze eine Klammer so , dass die Gleichung stimmt.

$$9 + 7 \cdot 6 - 4 = 92$$

$$9 - 7 \cdot 6 - 4 = 8$$

$$9 + 7 \cdot 6 + 4 = 79$$

$$9 + 7 \cdot 6 - 4 = 23$$



www.mathemonsterchen.de

$$(7 - 5) \cdot 4 - 2 = 6$$

$$7 + 5 \cdot (4 + 2) = 37$$

$$(7 + 5) \cdot 4 + 2 = 50$$

$$7 + 5 \cdot (4 - 2) = 17$$

$$(9 + 6) \cdot 3 + 2 = 47$$

$$9 - 6 \cdot (3 - 2) = 3$$

$$(9 + 6) \cdot 3 - 2 = 43$$

$$(9 - 6) \cdot 3 + 2 = 11$$

$$(9 + 7) \cdot 6 - 4 = 92$$

$$(9 - 7) \cdot 6 - 4 = 8$$

$$9 + 7 \cdot (6 + 4) = 79$$

$$9 + 7 \cdot (6 - 4) = 23$$

$$(6 - 4) \cdot 3 - 1 = 5$$

$$6 + 4 \cdot (3 + 1) = 22$$

$$(6 - 4) \cdot 3 + 1 = 7$$

$$6 + 4 \cdot (3 - 1) = 14$$